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General Instructions :
(i)  The question paper comprises two Sections, A and B. You are to attempt both the

sections.

(ii)  All questions are compulsory.

(iii) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted
separately.

(v)  Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one most
appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.
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Section — A

1. <9 i gered fora wga @ 2 1

What is a biodegradable substance ?

2. 3dol U I AN GTET H v 99 U % &Y § b1 R ST B 2 RIS Th B
fetfaa | 1

Why is convex mirror used as a rear view mirror in vehicles ? State any one reason.

3. (i) T9H 3R (i) UHTsh 3T o TvTfares 4 faiflaw | 1

Write the molecular formula of (i) ethane and (ii) ethanoic acid

4,  3TTIEHI % G IR GRAT | Tehfa H gHehl HEayul firehT 1 Ieoi@ HIfT | 2

Give two examples of decomposers ? State their important role in nature.

5. 3Ny 3TTEd AR H Tl oh GTfteh Yeh(d fohdl SRR aREfdd gl 8, 19 81
() et 3mred o & & e 9d 2, 37
(i) Trfiogaf=aae ? 2
In the Modern Periodic Table how does the metallic trend of the elements change as
we move

(i)  from left to right in a period, and
(i1)) down a group ?

6. TSRS S YUEAA < < fram feaflgu | 2

State two laws of reflection of light.

7. foreht e M <t T HEAT 19 R |
(a) 9 O I SoIII-eh T 3T HsTeha fetfaw |
(b) g TS T & SAUGT YT ? I I b &1 T eh SIT |
(c) T M o TS T 0TIk T TR Tehfal (3t /amdh) feaRaw | 3

The atomic number of an element M is 19.

(a)  Write electronic configuration and valency of this element.

(b) Is ‘M’ a metal or a non-metal ? Give reason in support of your answer.
(c)  Write the formula and nature (acidic/basic) of the oxide of M.
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11.

12.

13.

14.

smegfes st aTof i )

() 3Ted ® 91¢ g gd 9IH W, a2

(i) T8 H IR I F= ITH |

Tt ot o] Brsenei | fohd TR aitEH B1d € 7 319 3T o Uel H S 4T |
How does the atomic radius of the elements change on going

(i)  from left to right in a period, and

(i1)) down a group

in the Modern Periodic Table ? Give reason in support of your answer.

FAT HRU 7 foh H1EE T A CH GARE 3R T & CH HTRH 11 Hohal 8, T, Tawisi
fires 1T 2, SN feregga & Frrreteh B 8 aut feh e 3 g FE A # 2

Give reason why carbon can neither form C* cations nor C* anions, but forms
covalent compounds which are bad conductors of electricity and have low melting
and boiling points ?

e sl Pl e § 7 36 bl T ol B el TS |

What is vegetative propagation ? List its any four advantages.

mof Fer <t fopegl i farfernt <t w=ft samsT ofit wa & geht =xmen Hifv |

List and explain briefly any three methods of contraception.

Te3Ieh ol Tsh—Tsh IETEWUT & g IuThoia 3R HATeifares wequii o sfter fardie hifvw | srw
A fop fopeft waret Sfiar gra 31aw Sftem w1t o Iwifsta @veror srreft it | ama
TE I |

Distinguish between inherited traits and acquired traits giving one example of each.

Give reason why the traits acquired by an individual during the life time are not
inherited.

TURE T E 7 ARt HIfTT 6 fires S v ot Sfie Y wafe # et i T fha
TehR GfeAd Tt R |

What are Chromosomes ? Explain how in sexually reproducing organisms the
number of chromosomes in the progeny is maintained.

HIAE HIGT ST G4 o A1l ¢ 7T 9T o Y feTRay :

(i) STUSTIR; (i) BT ==&, (iii) TR

Write the functions of the following parts of human female reproductive system :
(1) Ovary ; (i1) Fallopian tubes ; (iii) Uterus

31/1/2 4



15. oIS 9% 18 cm BI%H gll o fhHl 3T <8 o &I & o Twad oiF H 27 em g W
feora 2 | wfafers s feafa st wepfa s <hifra | 3

An object is placed perpendicular to the principal axis of a convex lens of focal
length 18 cm. The distance of the object from the lens is 27 cm. Find the position and
nature of the image formed.

16. el qUull o HeW H ug ‘SrmaedA’ #h aiwr fRay | afe 18 srEaet giur s ¥a |
20 cm gt T fera foreht forar =1 amforep Sfcferal gUOT € 40 cm g WX ST B, 1 gUW
=1 wiepd gll Td HIfT | 3

Define the term magnification as referred to spherical mirrors. If a concave mirror
forms a real image 40 cm from the mirror, when the object is placed at a distance of
20 cm from its pole, find the focal length of the mirror.

17. SIYHYSH H YhI T T fohd TehR BT & 7 T hifSte fob ar s femfenma wefta
&I & a1 78 1 el fenfenTd | 3
How does refraction of light take place in the atmosphere ? Explain the reason why
stars appear to twinkle and the planets do not twinkle.

18. =& fafid €9 & wmUg & T&H W 3 i gefiv, St 3T & wy 3wk W S o, 6
AC-Th T @R 31T A1 - T Toaan o1 | et 3 35 aR 7 freres wgigy st s |
a1 7EeT A T80 T 39S AT 6 SR T ST B & fAU HhgT 3 I Heqr & auft
BT ! T8GRI G 1 A1 -Feh & @R foT@ 1 HRUT FHSR |
(i) 3%k foraR & %01 & 9 | 1 N 2 37N 38 KA TInted fepan s askar g 7
(i) 9fe STt HEGT T®VT Sl — 0.5 D SFHAT o 1@l <hT AT I T TIHI <d &, al 7

i % YhR T A8 fIRg |

(iti) FER 3R 38k 1Tk WRlgd g SGRId qed fRa | 3

Varun instead of copying from the black board use to copy regularly from the note
book of his friend, Sudhir with whom he sat on the same desk. Sudhir told the teacher
about it. The teacher asked Varun to get his eyes checked by a doctor and explained

to whole class the reason why Varun copied from Sudhir’s notebook.
(i)  What in your view, is wrong with Varun’s eyes and how can it be corrected ?

(i) If the doctor prescribes Varun to use lenses of power — 0.5 D, write the type of
these lenses.

(ii1)) Write the values displayed by Sudhir and his teacher.
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19.

20.

21.

31/1/2

I3 SHfoRd THTIT T o IeQ] bl TS T& <@ Ul | 35eh g -ar o1 4 ferfa | 38 g
&1 e & foru fortor s Eifew 3t gaes @ Gwifaa wRuT 6t FE SR | IugE
RIS G % o1F % ITATT GRT 38 QY o HNEA i S o fe7e foptor s Eifem |

A person is unable to see distinctly the words printed on a newspaper. Name the
defect of vision he is suffering from. Draw ray diagram to illustrate this defect. List
its two possible causes. Draw a ray diagram to show how this defect may be corrected
using a lens of appropriate focal length.

(a) Tord 3T ¥ R = Teu 7T ek WohtoT § o Aol Sifaforeat <ht fefar, whfa 37k
TS ol S o ot THTThd fertor 3 difew, safen e @ e va s
(i) RIS g (O) 3TN T ®Ihd (F) & o=
(ii) F3MW2F& =

(b) ITE I < I I & HIehE gl < et g Tfereenfud e fea S, ar 3w
TRTOM, (i) 3T (if) § Sffers 1 wepfa 3R @15 91 giEa gl ?

(a) Draw labelled ray diagrams for each of the following cases to show the
position, nature and size of the image formed by a convex lens when the object
is placed

(i) between its optical centre (O) and principal focus (F)
(i1)) between F and 2F

(b) How will the nature and size of the image formed in the above two cases,
(1) and (i1) change, if the convex lens is replaced by a concave lens of same
focal length ?

HEA o YN - I8 Ford TR gt foh -

(i)  IRTOT JTet 37T STINTE Bid &, T
(i) Ty @t WA TU A ST A 8 7
How do Mendel’s experiment show that

(1) the traits may be dominant or recessive, and

(i) different traits are inherited independently ?
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22.

23.

24.

31/1/2

(a)
(b)

(a)
(b)

(a)
(b)
(a)
(b)

(a)

(b)

(2)

(b)

TR T 7 ? $eh & TR faIfau |

TATSRUT <hT STEHT0T GRITd U fehef} I80 o 1T ST 6t 3TCed hie &1 3@ Hifay
3R 39 W F=fafaa i amifea Hifv -

(i) afdem;
(i) T I b Y T,
(ii1) HIGT IHb 5

What is pollination ? Give its two types.

Draw a longitudinal section of female reproductive part of a flower showing
germination of pollen grain. Label on it the following :

(i) Stigma;
(i1)) Pollen tube with a male germ cell ;

(ii1)) Female germ cell.

|y forepret ol had & 7 8 =01 STawah & 7
ST FUEY T8 ? §oh =R ATHI o1 FT FATST | 5

What is sustainable development ? Why is it necessary ?

What is water harvesting ? List its four benefits.

Sre AfiTeni i F= U T T TR I TEEHE TSRS 6 TEEh
grtertor forfae

()  3TerdteRtor Irferfshan

(i) Teheta Irfferan

(iii) wfereerma srfirfsran

TIAIA T @ ? HAT M1 2 S 3 S A5 H,S0,, 3 919 443 K W R fepart
TS 7 39 AR § @ig H,SO,, i yfireht fafaw | 5
Write a chemical equation of each of the following types of chemical reactions
of organic compounds.

(1)  Oxidation reaction

(1)) Addition reaction

(ii1) Substitution reaction

What is ethanol ? What happens when it is heated with excess Conc. H,SO, at
443 K ? Write the role of Conc. H,SO, in this reaction.
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25.

26.

27.

-9

Section — B
F BE! A THifesh 31t & ifersh ToIemT ST TERA ek 3194 Y11 e e | it feam
T S T A R 7

(a) Hh! Y TEATS ST B 3T TE A H foer B |

(b) 3HHI 1Y TeTd TeATfeeeh St & 3R I8 o1 § AT 2 |
(c) sHeh! Ty Tk SHeft g 3T g o1 8 foeia 2 |

(d) THH Y TS 310 FE B AR ST 1 forerm B |

Some students studied the physical properties of acetic acid and noted down their
observations. Which of the following observations is correct ?

(a) Smells like rose and soluble in water.
(b)  Smells like burning plastic and insoluble in water.
(c) Smells like vinegar and soluble in water.

(d)  Smells like rotten egg and soluble in water.

s B AT § |G SH1 =18dl 8 | 36 A= QU Te werert o aq=ei 4 & foren
IR HEAT AT, 7

(a) | 7 T 3 NaCl (b) %1 d 3R Na,CO,
(c) |LEI T A 3 NaOH (d) @S deF 3T NaOH

A student wants to prepare soap in the laboratory. Which of the following sets of
materials he should use ?

(a) Neem oil and NaCl (b) Neem oil and Na,CO,
(¢) Mustard oil and NaOH (d) Mineral oil and NaOH

= few e smE # i | fewved & fafie = o fafa e w2, S 9 swm o
T E -

SO @ @ @D

ESCORSEI R
(@) IL 1L IV, I (b) LI IV, I () NILIV,ILT  (d) LILIV,II

31/1/2 8



28.

29.

31/1/2

In the following figure different stages of binary fission in Amoeba are depicted,
which are not in proper sequence :

GO @ P T

The correct sequence is :

(@) ILIIL IV, I (b) L 1L IV, III () ILIV,ILT  (d) LIV, 1
i fow e form a1 o e el aun T @ 7 1
@ ) P
(A) (B) © (D)
(a) A (b) B (c) C (d D

In which of the following figures is budding Not shown ?

(a) A (b) B ©) C d) D

Ife 3 e feu e wfer % 39 wyg 1 g % fore wer s, feeht et s

8, 31y foRl AT 2 1
(a) TSI, STehTehE] 3T 31T (b) TSR 37 et
(c) TSR, 3T 37 THTX (d) ST 3 et

If you are asked to select from the following a group of vegetables of homologous
structure, which one would you select ?

(a) Carrot, sweet potato and potato (b) Carrot and radish

(c) Carrot, potato and tomato (d) Brinjal and radish

9 [P.T.O.
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= feu Tu sm ® @ 37 3mafa foror @t e feh o @ taad o 9vErd o 98 uY
TIMT TN & 3T FehT ST 3Tt @iF gRT 94 a1t Teifera ht feafa <l a0 o 1 fopanm
ST HHAT R |

L1 A
w
} t 7 t
2F, B : F oF,
V

(a) had 1 34 (b) et 3 3T 4 (c) 1,334 d) 1,3,43MW5

Select from the following diagram the incident rays whose paths after refraction have
been correctly shown and can be used for locating the position of image formed by a
convex lens.

w
+ t 7 +
2F, T, : F 2F,
Y
(a) only 1 and 4 (b) only 3 and 4 (c) 1,3and 4 (d 1,3,4and 5

SHIE o TS 8 TSI dTett JehTeT fohtur o1 uer SRR hd o foTu Taaw mifites seen

gfre .

(A) (B) (©) D)
(a) A (b) B ) C (d) D

Select from the following the best experimental set-up for tracing the path of a ray of
light passing through a glass slab.

(A) ®) (© (D)
(@) A (b) B (c) C (d D
10




32. i guIft 178 STefies SHEE H e qUUl <hl B gl &

123 456 7 8 910 1112 13 14 15
(a) 12.4cm (b) 6.2cm (c) 6.0cm (d) 3.0cm 1

The focal length of the concave mirror in the following experimental set up is

L L L s s s e i
12 3 456 7 8 910 111213 1415

(a) 12.4cm (b) 6.2cm (c) 6.0cm (d) 3.0cm

33. 39 3@ ! FHT e Hia & {50 § 1o arett frel fohtor 1 g9 98t smRRaa fora

TR | 1
(A) (B) ©) (D)
(@ A (b) B (c) C (d D

Select the diagram in which the path of a ray passing through a glass prism is
correctly drawn

(A) ®) (©) (D)

(@) A (b) B () C (d D
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34.

35.

36.
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T+ % S o YU < fafir= v @ @i aren STR@ ifa 3R 39 WET i it
ST |

Draw a diagram showing different parts of an embryo of gram seed and label them.

3T9eh I8 IR SRt A, B, C 3R D & | A 3R B H § TohHT T H ol I § 3TN g A
TG I & | C 3R D H § Torelt T H |1aH 1 foreied 8 3T g H feetive o1 faem 2 |
39 59 5l shl I fohe TR i 7

You have four beakers A, B, C and D. Out of A and B one has hard water and the

other has soft water. Out of C and D one has soap solution and the other has
detergent-solution. How would you identify these liquids ?

e 39 wHifewh et § Hifgan srgeheie fierrd €, 1 9 Ve wd @ ¢ 39 sifufsen |
o g8 119 <hl Tg=H 3119 foh® TR hid & 7 Had | Ui <hIfT |

What do you observe when you add sodium bicarbonate to acetic acid ? How would
you identify the gas released in the reaction ? Describe briefly.
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